SE64EIRERERXMREAS

ZFDEB

[ &5 - HSNo ]

1B [1-1]  #2: B30T, K5 1B [1-2]  #R3: E0T. K5
e E I R i RE B s s R=E
6 HBAEEABU) 12 EZTwvO(ERZM)
L | FR_|sER L S |EE |mx 6w
K A 2 | 3 K = % 3 | 3
0 0 0 0
S T I S T e T
7 FHR4% 13 SECOM
B |3:00 [0:50 [3:00 | Bf [3:00 [3:00 [3:00 |
INEERT IEE
B | : B ———
RIS 0k — B, S BET B | SW BEET. @) —X
5% w5
1B [1-3]  #1: B30T, KBS 1B [1-4] R0 : BI3T. BBS
N E R e EE RN
16 > bIILERREL) 22 7=)tFaUsa
P VT L |pe |mm [0
A A
ax 1 2 0 0
o | o NIEEERE 3 | 5
S [Em [ex | S T - Py
17 BETAILAE S RN =530 (H7E) 23 )TV Y IEWRRAL)
R [3:00 [1:20 [3:00 | BRI [0:56 [2:25 [3:00 |
T | EEEI—X
=y — — =¥ — T ————
RIS : )| —. A T 8% 50 27, 7 8X8
5% w5
1B [1-5]  #2: B30T, K5 1B [2-1] 3 E0T. K5
N E I R e EE RN
26 NTTEHEAFE) 32 TOPPANTIvY T (AK#t)
w [l [Ex A | [Bw
XA AA 2 3 AA A X 3 6
0 0 X 0 1
= ‘ =
sk |EW [ wiE  [WF | m
27 mMRRETEEE 33 RO
BRI [3:00 [3:00 [2:58 | R |o:s7 [2:55 [2:43 |
I EE N IE LRSS
' B ————
8IS : 7| EER. FA ADE 8IS O . KR FT
5% %




1[04 [(2-2])

%0 : B2, a5

1[E8% [

2-3] #R0:B@1T. G5

38 hER |x=|s pw |:|:§a |4Je§ 38 |I1=E.§ |7<4a |n§& |:|sasz |{’€§
41 KRERGEER 45 Z=ZEET (Kf)
== A B TIiE 57T ARAT
0 0 0 0
R X R 2 4 X 1 1
=] . =] —
B R EH HE B Frim
42 ANA 46 BEAEE(LBU)
B [2:05 | |3:oo | BRI [3:00 |3:oo |3:oo |
_ EE N _ IE RRET
=4 — — — =¥ — —
SIS ; ok —BB. KR EF BIE PR R, ok BB
2= eSS
1@ [3-1] #/2: 80T, K5 108 [3-2)] K2 : 81T, K5
8% S |7<4@ pw |z:§a |4Je§ 8% |q=5.§ |xqa |B§§5l Fd:za |ﬂ‘.§
51 Coming 55 2 hIILEMRFREEEER)
AIH AH =2 =211 SH HNzE
A
X S PN 2 4 X X 2 4
X 0 1 X [ 1
=] =] —
X% ZH ®’R hOfE 28
52 7HEE—IL 56 HAEE(FBU)
B9 [ 3:00 |3:00 | | BRI | 3:00 |2:36 |1:58 |
_ FE LB ET _ FE LB ET
wmy ;2T Wil
B . & SRR, ISP BE B . & SRR, ISP BE
2 eSS
1EE% [3-3] 750 : B1C. 5 108 [3-4] 71 : 81T, "S5 RE)
SE8E rhEx |7<1a |mx I*& |4’€§ G |q=5.§ |7<1-‘a |u§§a |:|:aa |ﬁ’.§
61 Z=ZUFJRIT(ARIE) 65 VAT (AL
iy BIE pEIY SFH = =5
0 0 ax 1 2 [ %
oo 1 2 oo 1 2
=) _ =] -
iTH as [ EEAK /NI KE (77N
62 NIPPO 66 +'>(B)
B | 3:00 |3:oo | | B |3:oo |2:11 | 211
_ E _ EE N
=/ — B == —
B . &i SRR L ET B . &i SRR, Bl 2T
2= eSS




1E8 [3-5)] #%0: B1T. BBS5 264 [1-6] %3 : H0T. K5
seiE rhER |7<=|§ |n§£x |*£x |ﬂ’.§ 38 |I1=E.§ |x4-‘e |n§£a |*¥31 |ﬂ’.§§
71 =HERIBIT(RE) 1 RERFTJX(A1)
55 A | EH b il FodiEs
0 0 A AN > 3 5
AN 1 2 0 0
= - — =i —
#| ARAF A+ A =5 LA
72 =FHET 2 =FRA (K4
B [ 3:00 |0:22 |3:oo | BRI [ 1:16 |1:25 |3:oo |
_ X5 S BEE _ xE T BER
=4 — — — = — —
BT : TH tE. Bl ET I . 7O fN3E. 1L IBE
2= eSS
2EE [(1-7] #%2: B0T. K5 2[0E% [1-8] 7K1 : EHO0T. KBS
8% ez |7c=|§ |u§§x F&;sz |’rk’.§ E8E |q=5.§ |7<1-‘e |n§za |:|:§1 |ﬂ‘.§
3 JI\FYZYIEWHER) 5 ALSOK(f#z)11)
Pt [GEas FEF 2y TERE b1 [l
A
KX = 2 4 X 1 1
0 0 0
A
=| = — -
YN [iic] Aix =15 BEERE | LA
4 TRADEVOX(A) 6 BASEEABU)
B [ 3:00 |2:05 |o:33 | BRI [3:00 |3:oo |3:oo |
— & A AIE — IE . K ES
=4 — =H — -
BT ;. o IBRE. /)R —EBB I : /WK —BB. S8 BAETF
2= eSS
2 [(1-9]  #R1: B1T. BB5{LRER) 2[6E% [1-10] 71 :EH2T. B85
Se8s rhEx |7c=|§ Pﬁ& |:|:§sz |ﬁ’.§ 5% |q=5.§ |7<1-‘a |u§;a Fd:;sz |ﬁ’.§
8 HFEBLAEERTR) 10 EEWIVA(ARLL)
=B aF P P =] g &I
A A
R 1 X 1 1
AN 1 2 [ % I >4 2 2
A A A
=] =]
SAAS =R SAIAT WA HE IN]=5]
9 S5 w/(HiE) 11 BAEEALTA)
B | 2:59 |3:00 | | 2:04 BRI [3:00 |[3:00 |3:00 |
— T8 I —BD _ I% 58 mETF
=4 — - =H —
BT . SE HEF. Bl —X BIE )l —X. 5B £F
2 eSS




26 [(1-11] 7R3 : B0T. K5 2EE; [1-12] 3%0: B2T. BB
FrE] |-1=5§ |7c=I§ |u§£x |*£5z |ﬁ§ 38 |I1=E.§ |7<4-‘e |n§£a |z|s& |ﬂ‘.§
12 W27V I(ERRXZA) 15 VZ—(EX)
1E=E A BT PR PEPE] AT
N A R 3 5 0
0 N A 2 4
=] — 1 =] —
FARTE | 1 R M iy BB
14 RT)\JGEBIE) 16 > hIILERREATTL)
B | 3:00 |1:46 |1:03 | BRI [2:02 [3:00 |1:29 |
. FE I —X _ IE AR EF
=4 — — — =H T T——
BT . &8 27 Tl 8EE BT : )l EEE. A F1E
2= e
2@ [(1-13] %0 : B1T. B5S 2E18 [1-14] #%0: B0T. BB5(IIRER)
siE |q=§ |7c=|§ |mx F&;sz |ﬁ’.§ Fores |q=5.§ |7c=I§ |ﬂ§za |z<£sz |ﬂ’.§
18 H> NJ—HD(ER) 20 N XPEB(Ki)
/NI REF 5 BER | A4 2K BER
0 0 0 0
K 1 1 0 o |o
A
=] - =]
it RO YN pi{1] BFHER AR BFHR
19 NTT(A%h) 21 EEEKEE(ALL)
B [ 3:00 |3:00 |3:00 | BRI [ 3:00 |3:00 |3:oo | 4:08
— EE I _ T8 A AE
e [ e |
BT Tkt FISE. 14k 1B BT ;. R IBRE, /)R —EBB
2 eSS
2[08; [1-15] 7R3 : HOT. w5 2[0E% [1-16] %0 : B1T. B#S5
8% rhEx |7c=|§ |mx F&zx |’rk’.§ G |q=5.§ |7<1-‘e |n§;a |z|:aa |ﬂ’.§
23 J\FYV Y O(EWEFALT) 25 HT(FRITERREEDD)
=7 =K ATE EME AR B
ax I SR 3 5 0 0
0 0 > 1 1
=] . =]
Kk Al | KE raH Ll (RS
24 RG—T> 26 NTTEAKRTE)
B [ 1:18 |3:00 |1:46 | BRI [3:00 |3:oo |3:00 |
— I 5 B _ 5 Ik —BD
wy w0
BT : S HEF. /WK —HBB gIE : SB REF. ©)—X
2 eSS




2@ [2-4] 7R1: E0T. KRS 2@ [2-5] 9K2: EHO0T. K5
FrE] rhEZ |7c=I§ |u§£x |*£5z |ﬁ§ P |I1=E.§ |7<=|§ |u§zx |z|saa |ﬁ‘.§
28 ST oHEE) 30 FLE
M KEF 1Bz alE I pifas!
X 1 1 | R 2 3
0 0 0
A
=] =]
Nt} malll Big =S NN
29 FU(A) 31 L
B | 3:00 |3:oo |3:oo | BRI [ 3:00 |3:oo | |
_ R _ IE G
=4 — - =1 — N N
Bl : BFiE 2. R BT HIE . ik EF. BHE=E
2= e
2@ [2-6] 7R0: 1T, BS 204 [2-7] 7%0: B1T. A5
8% ez |7c=|§ |u§§x F&;sz |’rk’.§ Gy |q=5.§ |7<1-‘e |n§za |:|:§1 |ﬂ‘.§
32 TOPPANTI Y T (A#t) 35 JPOS AT+ IR (ER)
AR WFH =0 N &L NS
0 0 0 0
X 1 1 X 1 1
S| - - = — —
bun =)= ER AL =¥ [SEisg
34 HEARIBM(AEAL) 36 ALSOK(1LRIER)
B [ 3:00 |3:00 |3:oo | BRI [3:00 |3:oo |3:oo |
_ IE REHET N T8 B &S
= —— _ B == —
FIE : B =D&, Bl &S BIE B =D&, B
2 eSS
2@ [2-8] #&%0: E1T. BBS 2@ [2-9] 9K1: EHO0T. S
8% rhEx |7c=|§ |mx F&zx |’rk’.§ G |q=5.§ |7<1-‘e |n§;a |z|:aa |ﬂ’.§
37 BARBEALC) 39 NTTERHAER)
1815 e FUlE t&H EAl |1k
A
0 0 | 1 1
7 1 1 0 0
A
=] =] — —
fRE g% [ER:N SIE )l i3S
38 Et+TAILAL Y IMIN -3 (A 40 JREBAAVORXRF—3 3> (AK%t)
B [ 3:00 |3:00 |3:oo | BRI [3:00 |3:oo |3:00 |
_ 5 B =0 _ TE: BB
=4 — — — = — — ——
BT . KK ZF. B 3 BIE . KR Z7. Lk —BP
2= eSS




2EE; [2-10] R0 : B1T. BBS5 2EE [2-11] 7K1 : B0T. &5
i |q=g |7c=I§ |u§£x |*£5z |ﬁ§ 38 |I1=E.§ |7<4-‘e |n§£a |z|s& |ﬂ‘.§
42 ANA 44 B+ TAIVIL Y 2N -Y3V(E)
1B P EH ThE =H =B
A
0 0 3 1 1
X 1 1 0 0
A A
=] =i —
£S5 /NI L5 HEF B Fim
43 ALSOK(ER) 46 HAEE(LBU)
B [ 3:00 |3:oo |3:oo | BRI [3:00 |3:oo |3:oo |
. FE KR ET . £ Rk BB
=4 — — =H —
IS - B9UE AR, 1R —EP g : BFE JE. fRER BT
2= e
2@ [2-12] 7R3 : HOT. K5 2@ [2-13] R0 : H0T. BBS(KERE)
e |I1=E.§ |7<=|§ |u§£x |z<£sz |ﬁ’.§ Fores |q=5.§ |7c=I§ |ﬂ§za |z<£sz |ﬂ’.§
47 JPOZRF+ OAGIFIIN) 49 S>FVI(ER)
AV = s= i) =R & &
X X A 3 4 0 0
0 0 0 | X
=] =] —
RN ARAF AFIEH 1hE SAIAS XH KH
48 EKIE% 50 EFUB_LHENAE)
B [ 3:00 |3:00 |1:44 | BRI [3:00 [3:00 |3:oo | 6:05
_ B ER N FE RHET
= | ‘ \ ' == ~
HIE . BH &S, REH BT HIE . BH &S, B =D
2= e
2[08; [3-6] 9R0: H2T. BBS 268k [3-7] 7R0: B1C. BBBS
8% rhEx |7c=|§ |n§zx F&;& |ﬂ‘.§ 8% |q=5.§ |7<4a |n§aa F«:& |ﬂ’.§
51 Coming 54 JREEHA(ALL)
A AH = = LLIFH biii[=
A
=] 0 1 X 0 1
X X % 2 3 % a 1 2
S| - S| —
1855 ~RU— |i# ==11T] SH IS
53  EEIIAL Y RAIN-3305 1 V() 55 > hS)LEHEREEER)
B [ 3:00 |3:00 |3:oo | BRI | 3:00 |3:oo |3:oo |
. X : Al 58 _ I Ol T
=4 — — — =H — —
BT | H tE. Bl &F IS TH TE. Bl K&
e eSS




2@ [(3-8] #%0: E1T, BBS 268 [3-9] 9R3:EH0T. KRS
i rhER |7c=I§ |u§£x |*£5z |ﬁ§ 38 |I1=E.§ |7<4-‘e |n§£a |z|:& |ﬂ‘.§
57 J\FVYZwOEWER) 59 NTTEREAAKT)
=0 %N +H il FhbF LI
0 0 X AN axt 3 5
X 1 1 0 0
A A
=] . =]
T FeSe /A B THEH =i
58 HZTw /(A 60 ALSOK(FEE)
B | 3:00 |3:oo |3:oo | BRI [3:00 |3:oo |2:12 |
_ T R eT . X SH E
=4 — — =H —
BT  H tE. Bl K& BT . Bl K. A 8=
2= e
2[0EE; [3-10] %0 : B2T. BB5 2[4 [3-11) K2 : BH0T. S
8% |q=§ |7c=|§ |u§§x F&;sz |’rk’.§ ey |n=|=5=>z |xqa |n§;x F«:z& |’rk’.§
62 NIPPO 64 > hIILERREGRER)
I a8 [Eiles 7AE | FEle 7
0 0 EEN R 3 2 4
X AR 2 3 X 0 1
=] _ — =i —
B =} =5 FH =5
63 HABE(ARLLB) 65 YYHT (AL
B [ 3:00 |3:00 |1:05 | B |3:oo |3:oo |
. FEFGH E _ FEE  5H K&
=4 — =H — —
BT . Bl K&, AH 8= IS : 1L SFEF. AF 8
2 e
2[00 [3-12] %0 : B1T. B5 2[0E% [3-13] 71 :HOT. w5
8% |q=;l.==! |7c=|§ |mx F&zx |’rk’.§ G |q=5.§ |7<1-‘e |n§;a |z|:aa |ﬂ’.§
67 TRADEVOX(B) 69 ZEIAL Y RN =330 1) (AEL)
Bt B bl o= B MAER | BB
A
P 0 1 X 1 1
X X 1 2 0 0
=] — =]
bz {52 1R RIS HE KR £AH
68 N7\ (AKE) 70 =HEKRBELAE)
B [ 3:00 |3:00 |3:oo | BRI [3:00 |3:oo |3:00 |
_ T8 B AR _ B O B
=4 — — =H — —
BT . L SEF. A 8EE BIE LU SFEF. PSP BE
2= eSS




2@ [3-14) 7R3 : EHOT. HRESS(RELRES) 2@ [3-15] 7R1: HOT. HKiF5S
] |-1=E.§ |7<4%z paw |t£ﬂ |4’€§ e |q=s.§ |7<4a |n§& |:|saa |ﬂ‘.§
72 Z=FFIEL 74 ZZEEE(KE)
s KA | BAHE &7 M 2|
EE N E S S 3 6 v 1 1
0 0 0 0
=] — =]
I wE | Al FHH K7 AH
73~ TIA—LXEE 75 (REERFEE(AT)
S| | | | B [3:00 |3 : 00 |3 £ 00 |
_ *35 : B KE _ 5 A EE
=4 - =
BIE L ET. AH B BIZE ¢ LI ¥, PUEp B
wE W=
2EE [(3-16] %0 : B3T. S 3k [1-17)] #%2: HOT. w5
8% |q=§ |7c=|§ |n§;x F&;sz |ﬂ’.§ 8% |I1=E.§ |7<1-‘e |B§§5l Fd:za |ﬂ‘.§
76 N XEE(ER) 1 FEFTJ (KT
78 B SBH JLi% NI i
A
0 0 a =] 2 3
X X X7 3 4 0 0
A
=] — = -
HAd =i T =M i P
77 STV IERERALM) 3 J\FYZWIEWHER
B [ 3:00 |3:oo |1:16 | BRI | 3:00 |1:23 |3:oo |
_ 5 A EE _ ¥ SB BETF
By |— B = —
BIES L T, PSP B B8 @) —. B8 E2F
wE wE
3k [1-18)] %2 : BHOT. HKiFS 3%k [1-19)] #%x2: HOT. w5
8% |q=5.§ |7<4@ |m& |z:za |1’€§ G |q:5.§ |7<4@ |n§as1 |:|:aa |ﬂ’.§
5 ALSOK(#z3/11) 11 BARBEETLA)
2y oy Sn] s A H5 LLIEH
=] AR 2 3 W 3 2 2
0 0 0 0
=] =] —
S =R BE A Bt
9 S>Fw/I(HE) 12 EZFwv/o(ERN)
B9 [ 3:00 |3:00 | | BRI [3:00 [3:00 |3:oo |
_ x5 @) —X% _ FE R EF
=4 — - — =¥ ——
BIE e 27, B SEE B8 Bl SXE. FEN A
wE wE




3k [(1-20] #&%0: BA1T. B5 3EEk [(1-21] /o0 :@1T. BB
i |-1=5§ |7c=I§ |u§£x |*£5z |ﬁ§ 38 |I1=E.§ |7<4-‘e |n§£a |z|:& |ﬂ‘.§
16 7> bSILEfRREATT) 21 BUFKE(AKLL)
NI jaeyE BB Ll B VEZN
A
0 0 0 0
X 1 1 AN 1 2
=] . =i — -
2 O I/NES =7 =K AfE
19 NTT(&A) 23 J\FY Y O(EWERAL)
B | 3:00 |3:oo |3:oo | BRI [3:00 [2:57 |3:oo |
_ EE RS _ X5 B AE
=4 — — = — —
IS . faAd F0sE. 1Ak IBE I : VK —BB. 1L B
2= e
3 [2-14] 7R1: H0T. w5 3@E [2-15] 7K1 : B90T. S
i |ng |7c=|§ |u§;x F&;sz |’rk’.§ [T |I1=E.§ |7c=|§ |u§£x |:|:zsz |4*e§
26 NTTEHZRKR(FE) 30 FLE
Jitas S IERN aE b3l pifas!
X 1 1 X 1 1
0 0 0 0
A
=] =] - -
/IS KEF 1BI% bun =a] = ER
28 S>FvoEER/) 34 HAIBM(A)
B [ 3:00 |3:00 |3:oo | BRI [ 3:00 |3:oo | |
_ B RRET N T8 BH &S
=4 — — = — —
BIE ;. ok BB, P BT : BT =D&, EH
2= eSS
3k [2-16] K2 : 1T, HwES 3@Ek [2-17] 7R1: 0T, FES
8% |q=;l.==! |7c=|§ |mx F&zx |’rk’.§ S8 |q=5.§ |7<1-‘e |n§;a |z|:aa |ﬂ’.§
36 ALSOK(JLBI=) 39 NTTEAKRER)
NIl = S t&H EAll |1k
X :| 2 2 X 1 1
N 1 2 0 0
A A
=] =]
fRE g% [ER:N EIR IR Ly
38 Bt TAILAL Y IMIN -3 (A 43 ALSOK(ER)
iR | 1:33 |3:00 |3:oo | BRI [3:00 |3:oo |3:00 |
_ B B =0 _ TE: BB
=4 — — — = — — ——
BT . KK ZF. B IS . KR Z7. 1Lk —Bp
2 eSS




3k [2-18] 7RK1: B1T. BE5(FE) 3 [2-19] 7R0 : 0T, KRS (HKFTE)
seiE |-1=2 |7c=I§ |n§£x |*£x |ﬂ’.§ S8 |q=s.§ |7c=I§ |ﬂw |*zx |ﬁ’.§
44 BLETAILALE I 1IN -53)(7E) 50 ERBLHEN(AE)
TrE =H =B {hc AR KH XH
X 1 1 0 D
AN 1 2 0 0
A
=] — — =] - -
I S1E| 57 1855 RU— | /@ pe:]
47 JPOSZFT+ IZCIAI) 53 BEEIMIAL Y AN -5305° 1) V()
B | 3:00 |2:35 |3:oo | BRI [ 3:00 |3:oo |3:oo | 8:00
T ;R BB . *E  FiEIZ
=4 — - =¥ — - .
BIE ; BhEEF. B E BIE : kA EF. BH &S
2= e
3@ (3-17] #Kk0: BA3T. B¥S 3E [3-18] #K2:HOT. HKissS
sE8e |n=|=5=sz |7<=|§ |u;5§x |z:;x |’rk’.§ E8E |q=5.§ |7<1-‘e |n§za |:|:§1 |ﬂ‘.§
55 > hIILERREER) 59 NTTERHEZAR(ALL)
==11 ] SH piji;ES M FhbF LI
0 0 | ax 2 3
= a3 AN 3 6 3 0 1
A
S| _ =] - —
T FeS ™A HE tRa BR
58 ERZT WKL) 63 HAEEARLB)
B |0:24 |o:35 |o:49 | BRI [3:00 |3:oo |2:09 |
_ T L ET — T8 O EE
=4 — =H — —
BT . & SRR, PSP BE B & SIEA. Bl &F
2= e
3EE; [3-19] &1 : B1T. BB5(IIRE) 3 [3-20] #%1:B1T. BB5@*E)
G |q=§ |7<1a |u§;x |z:aa |ﬂ’.§ 82 |q=5.§ |7<1-‘a |u§za |:|:§sz |ﬂ’.§
64 > NSILERBRBHER) 69 ELIMIAL Y RN -¥305° ¢\ Y(AAL)
[ric] s} E5]l=] FE RE B MAER | BB
X 1 1 3 1 1
X 1 1 [a A 1 2
A
=] — =] - —
$#%ME 1R AR $#ME EE ARAF R+
68 A7)\ (KE) 72 =FHET
B [3:00 |3:00 |3:oo | 0:43 BRI [ 1:50 |3:oo |3:00 |
— 5 W5 BR _ I% & am
my ___ B | S
B . i SRR, Bl 2T IS  TH E BB EeT
2 S




3EE; [3-21] %0 : B2T. A5 418 [1-22] %2 : 20T, KBS
seiE |-1=§ |7<=|§ |n§£x |*£x |ﬂ’.§ 38 |I1=E.§ |x4-‘e |n§£a |*¥31 |ﬂ’.§§
74 =ZEmEBEARE) 1 RERFTJX(A1)
&F EH £H b4 il FotiEs
0 0 AN AN 2 4
% R 2 3 0
=] — = — —
LN S| =K T =it agE SA] I
77 STV O(ERRALL) 5 ALSOK(t#=I1I)
B [ 3:00 |3:oo |1:43 | BRI | 3:00 |2:43 |1:25 |
_ *E &5 58 _ X A IEE
=4 — — — =4 — -
BT | 5H tE. Bl &F I : /JVWK —BB. S8 =T
2= eSS
41 [1-23] %0 : BH0T. BB5(IHRE) 408 [1-24] %0 : BHO0T. KBS (HFTRE)
538 |q=s§ |x4a |n#;x |wz |+e§ 3 |I1=E.§ |xqa lﬂ#& |:s§1 |ﬁ’.§
11 BXREEARLLA) 23 J\FYV IV OEWERRALT)
A HS LLIEH LI =7 2K A& =K
0 0 0 0o [
0 0 | % 0
=] — =]
2 RO /NG F/NES TEH Sl [EEN [ERN
19 NTT(A#t) 26 NTTEAARTE)
B [3:00 |3:oo |3:oo | 2:20 BRI | 3:00 |3:oo |3:oo | 00: 4
_ 5 ;I —BD _ I% 58 mET
=4 — - =4 — —
gIE : SB HREF. © —X BIE . ©)l —X. &8 =F
2= eSS
4O8% [2-20] 7R3 :HOT. w5 4[08% [2-21] 71 :HOT. HE5
se8s |=FE.§ |;'<=|§ |n§;x |z:zsz |’rk’.§ G |q=5.§ |7<1-‘e |n§;a |z|:aa |ﬂ’.§
30 HE 39 NTTEAKRGER)
alg EI St t=H EAll |1k
X I 53 3 3 W 1 2
0 0 0 0
=] — — = — —
NIl =5 =i il Sli] ISy
36 ALSOK(JLRdE) 47 JPOSZF+ OZCIANI)
B [ 3:00 |3:oo |3:oo | BRI [ 2:46 |3:oo |3:00 |
_ T : R BT — % BH &5
B | — . B2 == —
B2 B =D&, Bl EE I : BIRF =D&, &
2 eSS




4E1E; [3-22] 7R1:BH0T. HKiF5 4EE% [3-23] 3R1:BH0T. HKiF5
i |q=g |7c=I§ |u§£x |*£5z |ﬁ§ 38 |I1=E.§ |7<4-‘e |n§£a |z|s& |ﬂ‘.§
50 EHFB_LEEBNASE) 59 NTTERHEA(ALL)
Ll E JAIAE KH il FhbF LI
X AW 1 3 A X 1 2
= 0 1 0 0
=] . =] —
T oK /A fz {as) 1Rz IR
58 ERZTwW(ALL) 68 NT7)\J(AKJE)
B | 3:00 |3:oo |2:29 | BRI [2:35 |3:oo |3:oo |
. T R eT . X5 R T
=4 — — =¥ —
BT . H tE. Bl K& BIE . 5H HE. BH K&
2= e
AL [3-24) 7R1: B1T. BBS(IKRE) QR [(1-25] /1 :B0T. K5
8% |q=§ |7<1-‘e |u§§x |*asz |ﬂ§§ 8% |I1=E.§ |ﬂa 2% Fa:& |ﬂ‘.§
72 =FHET 1 FHEFTT ) Z(K4)
el AAT A+ ARAT Jb1E il i
[N 1 1 X 1 1
X 1 1 | R 0 0
A
S| — = -
NS =i T T Pt RO VNG
77 ST I(ERRALL) 19 NTT(A%L)
B [3:00 |3:00 3:00 | 4:54 BRI | 3:00 |3:oo |3:oo |
_ IE . G E _ 5 @)l —X
=4 — =4 — -
gIEE . Bl K&, A 8= BIE . SB RAETF. hFkEE
2= eSS

HAREE (2-22]

7R0 : 0T, 7REyS(HRE)

QR (2-23)

7R0 : B0T. BE5(HRE)

8% |q=§ |7<4a |n§£x |z:aa |ﬁ’.§ 8% |q=5.§ |7<=|§ |ﬂ§& |z<;a |{’€§
23 )\FVZw OEWRERRAL) 39 NTTEHREARER)
=7 =K A& =73 18H Al | FR &
0 = 0 0
0 0 0 0 | %
= — - - = — -
alR D piie]zs] S e pEI ) KH KH
30 FLE 50 ERIUB_LHENAE)
B [ 3:00 |3:00 |3:oo | 0:12 BRI [3:00 [3:00 |3:00 | 3:37
— T — % : B &
B f——— B == - —
BIE KX Z7F. BlfF =D& HIES : Bk EF. B
e eSS




HEQREE [3-25)

%0 : B1T. Bi5

HERES [100-1)

7R0 : 0T, HRBIS(HRRE)

seiE |I1=E.§ |x=|s |nw Fm |ﬂ5§ 3 |q=s.§ |7c=I§ Pﬁ%ﬂ |z<zsz |4Je§
59 NTTERHEAR(AKLT) 1 FHFTTJ A (AKT)
NI FgF LI JbfiE il SR il
0 0 0 I
= 1 2 0 0
=| - =i — -
LN S| =R T =iF =K AfE AfE
77 STV O(ERRALL) 23 )Y W I(EWEFRALL)
B | 4:00 |4:oo |3:58 | BRI | 4:00 |4:oo |4:oo | 1:30
_ IE B AE _ 5 A AE
sy g = == ==
BT L SEF. AF EE HIE &8 27 Tl B8
2= eSS
#REE [(100-2] 7K0: B2T. BF5 RES [100-3] 7R3 :HOT., w5
8% |q=§ |7c=|§ |n§;x F&;sz |ﬂ’.§ 8% |-1=5.§ |7<1-‘e |B§¥i Fd:za |ﬂ‘.§
50 EFBLHEN(KE) 1 RERFTTJ X(A1T)
{hc pEIE S KH b il S
A
| 0 1 = 3 X 3 4
>4 R 2 3 0
=] — =] —
LN S = T AT S T
77 STV IERERALM) 77 STV I(ERRALL)
B | 4:00 |4:00 |2:51 | BRI | 1:50 |4:oo |4:oo |
_ T &8 am _ IE Bk E
=4 — — — =¥ — N
BT : Bl 2. BH = SIS ; ok IBRE, BkEH BT
2= eSS




